


Training Area and Free Area

600,0

Free Area

12/0,0

600,0

1955,0

600,0

Specifications

Class: S

Maximum Wt. Capacity: 130 kg/286 IBS
Maximum User Weight: 135 kg/297 IBS
Product Total Surface: 1955*1270
Product Total Mass: 164 kg/360 IBS




Exploded diagram

0dN310TJ popoTdxy




Illustration step

NO. |Drawing Number Name Speification | Qty
@ Left ground frame 1
@ Right ground frame 1
@ Right stand frame 1
@ Left stand frame 1
@ film hangers 9
@ Botton connection frame) 1
@ Rear connection frame 1
@ Fangguansai 50-110 4
e Self tapping M4, 210 8
@ MMMW feet and one foot 9
6 Door mat 2
@ socket head cap screw | M12%30 20
6 Washer M12 40
@ casing cap 12
@ Looser nut M12 20
@ cnicrele oot sores | 1855 2
@ Washer M8 2
@ Pipe plug 9
@ Sun flower 246%18 2
@ Door mat 2
@ Looser nut M10 4
o o (LR
@ Washer W10 8
@ Flat shock cushion 2
@ Electroplating spring 2




NO. |Drawing Number Name Speification |Qty| NO.|Drawing Number Name Speification | Qty
@ socket head cap screw | N12%30 4 @ Long hanger rod 2
@ Tasher 12 8 @ Right arm force frame 1
@ casing cap 2 6 Left arm force frame 1
@ Looser nut W12 4 @ Back pad 1
Inner six angle , .
@ semicircle hoad scren MB%25 8 @ _DE:S ,,aﬁ%m group 1
. mer six angle R
@ Cushion ! @ semicircle head screw 85 :
@ Welding rod p20k6.5 | 1|(@2) Washer 8 12
@ Large spring 1 @ Pipe plug 2
Cross recessed i )
@ countersunk head screws Mo ! @ Sun flover D468 :
@ Outer spring sheet metal 1 @ Door mat 2
Inner six angle . .
@ semicircle head screy N8#60 2 @ Electroplating spring ;
Toss recessed ;
%
@ ountersunk head screws 12 6 e Self tapping M. 210 i
@ Cone back 1 Inner six angle
@ semicircle head screw B+20 4
@ Digital sticker 1 @ Bearing cover 4
@ Adjusting plate | @ casing cap 089 9
. laintenance free
@ . ocmrwo: ! @ luminum hand L
T0SS Tecesse .

@ countersunk head screvs #16 ! @ The aluninun plug 2
@ 625 small bearing 4 @ The aluminum plug 2
. [nner six angle
@ Kasher o ; @ semicircle head screw V#35 ;
@ Looser nut \5 4 @ The top wire 1846 4
} [ Lnner six angle
@ External six party screw M10%20 2 @ cemicircle hoad scren 1830 2
@ Washer M10 2 e casing cap 2
@ Black nylon roller 2 @ Deep groove ball bearing | 6205 4
@ Active axis 2904102 2 @ Shaft 9

@ casing cap 50480 1




Adjustment Instructions
Adjustment Instructions of Functional Trainer

Adjustment of Seat

Hold the cushion and adjust to the right position

Seat Pad

Seat Contro




.
,“““

@ Garlando

GARLANDO SPA
Via Regione Piemonte, 32 - Zona Industriale D1
15068 - Pozzolo Formigaro (AL) - ltaly
www.toorx.it - info@toorx.it

VV
;.—



	
	Notice
	Training Area and Free Area
	Exploded diagram
	Illustration step
	Illustration step
	Illustration step
	Illustration step




